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BoeE & ]
EHEFTIR ast
1(858) 2(KEY) 3(HK) 4(hEY) 5(8) —R=

B[R E] 4,428 170 12 205 283 34 5,098
SRR 1,075 57 10 55 133 10 1,330
aF= 1,107 68 10 60 187 23 1,432
=R 2,805 98 17 140 450 93 3,510
AR 791 32 0] 32 93 6 948
LUFZIR 1,197 44 0 36 234 27 1,511
BER 2,309 94 0] 118 443 69 2,964
TR 5,034 129 7 236 815 192 6,221
N 3,686 92 11 116 619 169 4,524
HEE 4,080 184 4 181 670 146 5119
BER 12,665 338 13 566 2,876 688 16,458
FEE 10,000 330 24 460 1,836 490 12,650
ERRHD 18,420 258 28 754 3,158 1,288 22,618
eI 16,331 266 19 558 2,811 954 19,985
iR 1,819 93 1 80 342 55 2,335
2R 1,099 74 3 59 163 49 1,398
alll| 1,438 44 2 49 209 40 1,742
BHE 969 37 1 30 127 31 1,164
LIS 1,159 38 4 43 271 48 1,515
REE 2,442 89 2 99 447 86 3,079
I BRI 3,186 153 5 142 494 112 3,980
AR 6,033 190 0 224 1,194 323 7,641
ZHS 15,978 395 22 518 2,147 658 19,060
=B8R 2,818 95 2 87 a77 115 3,479
WES 1,993 71 0] 67 337 83 2,468
RERRT 3416 98 17 174 596 215 4,301
ABRAT 13,273 514 34 733 2,234 806 16,788
"ER 8,206 159 8 214 1,289 421 9,876
ERE 1,729 96 0] 46 251 62 2,122
FIFRLLIER 1,265 48 1 52 251 58 1.617
SIS 613 27 0] 15 103 29 758
ERE 722 20 0 24 137 24 903
| L= 2,763 103 2 104 575 135 3,547
LEER 3,865 134 3 137 803 220 4,942
AR 1,785 51 3 43 334 67 2,216
BER 888 23 1 32 177 27 1,121
&8 1,340 32 7 47 267 85 1,693
S 1,603 50 1 45 324 115 2,023
SR 687 11 3 29 133 20 863
fEfRE 7916 190 19 276 1,191 381 9,592
EER 941 36 6 46 192 59 1,221
RIS 1,274 47 0 26 231 57 1,578
HEARIR 2,083 88 4 59 314 94 2,548
AHE 1,379 35 2 54 274 74 1,744
=IFS 1,412 25 2 39 243 33 1,721
EREE 1,733 57 12 55 303 76 2,160
RIS 731 6 1 13 130 36 881
e 0 0 0 0 0 0 0
‘st 182,486 5,289 323 7,178 31,168 8,883 226,444
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B[R] 3,392 125 6 149 218 18 3,890
SRR 878 31 9 36 122 6 1,076
aFR 797 39 4 39 150 15 1,029
=R 2,068 43 14 99 318 57 2,542
AR 571 21 0 25 71 3 688
LLFZIR 883 31 0] 28 194 14 1,136
BER 1,750 46 0 74 349 46 2,219
TR 3,823 82 4 159 647 120 4,715
AR 2,854 58 8 91 487 117 3,498
HEE 3,255 130 2 138 537 87 4,062
BER 9,198 226 2 393 2,277 443 12,096
FEE 7,343 229 8 317 1,476 340 9,373
ERHD 13,523 177 0 520 2,523 940 16,743
eI 12,967 168 4 394 2,232 652 15,765
iR 1,272 51 0 52 268 32 1,643
2SR 819 62 1 43 122 34 1,047
alll| 1,082 22 2 25 161 23 1,292
BHE 727 32 1 25 97 19 882
LIS 871 25 4 32 225 31 1,157
REE 1,811 53 0] 69 364 61 2,297
7 BB 1R 2,424 95 1 90 384 66 2,994
R 4,796 117 0] 158 965 224 6,036
ZHS 12,466 259 11 347 1,644 414 14,727
== 2,260 58 0] 55 377 70 2,750
WES 1,596 35 0 34 264 54 1,929
RERRT 2,755 59 5 108 468 145 3,395
ABRAT 10,230 330 7 509 1,723 510 12,799
"ER 6,478 82 5 125 998 271 7,688
ERE 1,364 67 0 31 195 39 1,657
FIFRLLIER 931 22 0 28 191 38 1,172
SR 466 15 0 10 87 24 578
ERE 558 16 0] 18 105 13 697
i L= 2,106 54 2 80 457 90 2,699
NI 3,159 95 1 86 611 126 3,952
LA 1,470 30 1 27 275 48 1,803
BER 750 14 1 24 148 19 937
BlINE 1,011 S 5 27 218 70 1,270
S 1,267 27 0] 37 234 68 1,565
SR 565 3 1 21 113 17 703
fERE 6,258 106 0] 167 957 251 7,488
{EBER 733 20 1 30 150 40 934
RIS 1,016 26 0] 15 172 38 1,229
HEARIR 1,678 61 2 47 239 66 2,027
AHE 1,103 15 1 31 211 50 1,361
=EIFS 1,166 10 0 26 196 23 1,398
BREE 1,401 30 4 43 245 60 1,723
RIS 563 6 0 S 109 33 687
e 0 0 0 0 0 0 0
‘st 140,454 3312 117 4,891 24,574 5,925 173,348
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